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1. Lo & ZERKE KL, Complete the multiplication table.

70

© ([0 |3 | | O |k | W ||+~
O [ N[ R | w0~

7§ 27 36 45 54 63 72 &7
I Sh Bush
2. EL%T%‘%@J:O Calculate by addition.

A HA D
f5il /E i
O 5x4 O 7x4

= 5+5+5+5 = 20
®@ 5X5 = 5 x(4+r) ®@ 7x5

= 20+5 = 25
@ 5X6 = 5x(+) @ 7x6

= 25+5 = 30

ekl /\ij' z L)d‘/u\f,iv bbb
3. WOz 2HOBRKOHT K &,

Express the following numbers as natural numbers.

o o

Bl [t RE

O 7 xzm |@ 11
X7

@ 6 @ 8
IX6 , 2%3

@ 4 @ 9
IX4, 2%2

@ 35 @ 15
7X35 , X7

® 20 ® 30
IX20 , 2%70 , 4x5

® 18 ® 12
IX7E , 2X9 , 3xXb

@ 36 @ 24
IX36 , 2X7¢ , 3%/2
4X9 X4

® 40 ® 60
IXH0 , 2X20 , 4X70
5%

4. ROTFXOFE 2 L,

Calculate the following symbolic expression.

S h

N HA WD
151 RH il
O x+x+x Ox+x+x+x+x
= 3 x
® 3x + x G+ x |@ 5x + «x
= 4 x
® 4x — x (7)) x |® Hbx— x
= 3 x
@ 4x+ 2« =(u12)x |@ Bbx+ 2x
= 6 X
@ 4x —9«x =(s9)x |® bx — 8x
= —5x
® —x—3x (/3 x|® —x—4x
= —4 x
oE L\fgli!iiv’fb\l,%‘ &
5. WD —7 R XS0,
Solve the following linear equation.
nn En bA WD
11| RH i
O 2x=6 (=2x3) O 2x=8
X =
® 5x =35 (=5x7) ® 5x=15
x =17
® 4x =-—20 (=ux(5) |@® 6x=-—30
x = —5
@ —4x =12 (=x(-3)) |@ —6x =18
x = —3
® —bx=—10 (=-x2) ® —3x=15
x = 2
® —3x =18 (=) |® —4x= 24
X = —b
@ 2x = 40 (=0 |@D 5x =60
x = 20
® 2x =11 ® 3x=28
. — 77 e
2 \ N /
@ 4x =10 © 6x=28
X = i (=70=4)
4 \ S 7
5 (70=2%5)
2 (4=2x2)
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1. 7<U<L D F ESERE L, Complete the multiplication table
1 2 3 4 5 6 7 8 9
1 / 2 3 4 5 b 7 s 9
. o
3 27
4 36
5 45
6 54
7 63
8 72
9 &7
E%h gnsa
2. ELETHAE®ELX, Calculate by addition.
foi o ]
O 5x2 O 6x2
= 5+5 = 70
©® 5x3 ©® 6x3
= 5+5+5 = /5

ek /\ﬁ’,';' - L& /\/\";:,5 *
3. ko¥z 2o BEARBOHT

Express the following numbers as natural numbers.

bbb

® &,

PR bA WD

15l 7H Ll

D 10 D 15
IX70 , 2X5

®@ 12 @ 18
IX72 ) 2Xb6 3%

k-4 L\tgli!iifb\l,éf &
4. RDO—WFBRRXEZME 7230,
Solve the following linear equation.

PR bA WD

{51 R i &d

® 2x =10 O 5x=15
X = (=70+2)

® 3x =12 ® 2x= 18

@ 6x =—12 ® 3x=-—18
x = —2

@ —4x =12 @ —6x =18
x = —3

® —5x=-10 ® —3x =15
X = 2

® 2x=5 ® 3x=10

__5 e

x = (=5+2)

T ]

ek4 L AR

5. KD TER DT 2 L,

Calculate the following symbolic expression.

by ri
O x+ x O x+x+x+x
= 2 X
@ 2x+x  =e+r)x (@ 4x+x
= 3 X
® 3x —«x ~B-1)x |® 4x—x
= 2 X
6. KO R IRAE M 72 S,
Solve the following linear equation.
by fi
O x+2=10 O x+3=11
X =10 — 2
X =4
@ x—3=10 @ x—4=38
X =10+3
x =173
@ x+3=—4 @ x+4=—7
x=—4-3=-([4+3)
x = —7
@ x—3=—5 @ x—4=—6
X=-5+3=-(-3)
x= —2
® x+6=14 ® x+9=3
x=4-6=—(6—4)
x= —2
©® 2x+1=71 ©® 3x+2=28
2x =7=-1
26 =6 (= 2x3)
x=6+2
X =3
@ 4x—1=x+2 @ 3x+2=x+4
4x —x=2+%1
3x =3 (= 3x1)
x=3+3
x =7
® bx+1=2x—8 ® 6x+7=2x—5
bX —2X=—-8_1
3x =—9  (=3(-3)
x=—9+3
x= —3
©® —x—2=5x—14 |@ —x—1=4x—10
—X—bX=-14 + 2
—6 x =—72 (=(-6}x2)
x=-12+(—6)
x= 2
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Fill in the blanks below to complete the sentence.

T

L3525 om TV L5 mAUL

O 3x2+1=TO RHHFEZEH > TH BEOHKE
bbb e L | :
®Lieklz LWV,

L5 25 [N UK % = T REND T T

@ F50kE ilx i, [ % i,

D x9IE) N
EbET VAP I
. b ,L'ﬂ Bz EWizw )
@ 3xt1=TDOLHTXTFITHDE 2R AT 5
% & EyLE T 3 .
ERR VS OEXE L9,
EoCLE 7 T R A e .

@ AEAALY 72D H % EWno,
P [55 Tos ... )
fBr kDb L% 2% ka\jo
) @7 T Ly | [ eereeeeoomeeeeeeeooeo .

® wHE» 1 0GR E PR
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2. ROX B & HFEAT xR+, XX TR TN D EKL
Express the following sentence as an equation.
nn En til\ 0 E
BIE| x %239 5E, 1512725, (1bes L)

@

3x = 15

bhED

A el
)

>

=4 o
x & 2ETHE, 610725, (6% Lu)

v

il i
@

[0

<b
XIWZ1&zMzxsE, 5EELV, Gicrs)

x+1=5

(ol
>
—

o

<1’)¥ (0%
XIWZ3&MxAHE, 8LFELV, Bicns)

<
Z

=
Oz

XDSENL 1B L, TI0hkb,

3x —1=17

(ol
>
—

o

XD AEND 3EBI L, 5BItiB,

<
Z

=
® 5

ﬂ;i‘«: <Fb> [0y
XD5FX, xl24Z2Ma2bDEEL W,

5x= x+ 4

(ol
>
—

e

t;ib: <Fb> [0y
XD 4EE, xIZ6Z2Mx=d DL %LV,

B EIHLTARMEDE, bLEOKD
5itici s, (Botke xb+5)
3x +4= 5x

(ol
>
—

O

BB OB LTAEMADE, bLEDKD
sfice s, (boka x bT2)

BB |

Bob BT
Ko TR F D

Write the following equation in sentences.

=
OF:

[E4A -
XETHETDHE, 3510725, (3% L)

[ead
>
—

oF:

8x = T2

nwn

il

S)

6x —1=3x+2
XE6HELT1IZAC L,

(=4 <bhb
XD 3FIZ2%Mx-b DIt B,

(ol
>
—

S)

2x +5=4x—1

ekd {:);f‘ . 125 T LE A .
4. ROED S H, HBRAOMITEN D,

Which of the following numbers is the solution to the equation?

v

il i

AN
1,209b, 4x— 3=5 OfifIL Eni,

x=1D&¢&, 4x—3=4%x1—3=1
x=20D¢&, 4x—3=4%x2—-3=5

AT L
L7ERoT, x=20&E, FEXNKY Lo,

Ans. 2

(ol
>
—

©

AN
3,459 bH, 2x—1=5 DOfFITEND,

[ead
>
—

S)

AN
4,50 5H, 4x— 3 =17 OfiRIL EN ),
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Fill in the blanks below to complete the sentence.

D 2x3—-1=50 L 5 IZ| BTl o
BABV bbb LE kagzi 77777777 ,
Ak e R LEXZ2EHKXE 0D,
L5235 G TTTTTTTTTTTIIIS & op [T 5~
@ F5 0 ki, il SRUIN
VroiEd & D x o~k
W hEAbETCHE A&V,
b b T T
® 2x-1=50L5CXFICHD IE %
5 7 ryLE 15 THLE i
THERVIOFEXREABERXRE VD,
AN 7 L . . n .
@ Rl ) VB et ALV,
ffffffff e eoTols
HRODHZ L E ERZHE 2LV,
LM ”””” I BSTHLE L BLE)TNLE .
® WH DFBRAE - WREFREALL WS,
5% RBALES 5T LE bbb » b B
2. ROX & & AT R E, X ox T RO K
Express the following sentence as an equation.
nn En (093
BIlE| 3icxzmiFd e, 1285 LU0, (2142)
@®
3x =12
bA B 0L
Wl | 2ICxx2idnE, 8EFELV, (8icns)
@®
e IS o
BIE| 212 xx2 BT &, TIZRD, (1e% L)
@
2+ x=17
bAEN = oy
M| 4l xx T &, 91T D, B
@
v En e o
BIRE| 9706 x D 4fExFI< &, 1175,
@
9—4x=1
bHA N ;1;1,: o)
M| 1022b x D 6fExG< &, 412705,
@
nw ey <b N [E4 (094
BIE| x 1242 MAT=bDIX, x D55 LEELV,
® xt+4=5x
bAEN b do O
M| xI26ZMATbDIX, x D65 E%EL,
®
v {;)’vr‘ ;;l\ [0} ?’;f
BlE| A E3HFELT2%5I< &, bEOHKED
e e
Ol ofiicns. (bakkzxeis)
3x — 2= 2x
bAEN ~ ) [0S n
HE| o E 2/ LT1E25I<E, bEOHD
e e
O\ sliicns. (botizxevs)

oF B3 TNLE  BEALLES bbb F nE
WD A E L E TR HE, x T RO
Write the following equation in sentences.
nwn 7w
flRE | 5x = 35
@ g 9r
XESMETHE, 351045, (35&%LW)
bAEL
HE| 3x = 24
@®
v v
FlE| 2 —1)=8
® [0S go Y3
X0H 1Z70WELO0D2651F,8 EFL L,
PICXDDLEINELDENTD L, 81T D.,
bAEL
il 3(x+1)=6
@
ekl L i N
. Yk@ﬁﬁb\&:éz Ko Answer the following questions.
v Eu | e i
BIME (RN 3 THHLDEEZ L,
Answer the equation whose solution is 3.
D 2x—6=0
2x3—6=0
@ 2x+3=0
2x3+3=9
@ 4x=0
4x3 =12
LyLy o n 13
FEXANKVILO>DOITO2x —6=0Th 5,
Ans. W 2x—6=0
HAED | pn . iz N
MR 2 THDLLDEEZ L,

Answer the equation whose solution is 2.

O3x+6=0
@3x—3=0
@®3x=6
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Answer the number that applies to the following squares.

nwn 7w

il

HA D

[ &

DO 2x 0= 10

2x5=10%1Y =5

O 3x =18

@ —sx[=-35

@ —8x [1=-—48

—5x7=-3%v =17
@ —4x1O=8 ® —6x10=18
—4ax(—2)= 8 LV O0=-2

@ %xmzm

%x20=10i@ = 20

wh U 1E) L

k-4 T &
2. D —7 B A X 7230,

. LoLE Hi Lo
KEXOMEE

Solve the following linear equation.

L HA WD
11| R ] RH
DO x—4=0 Ox—1=0
X—4£4=0+t4
x =4
@ x+3=0 @ x+5=0
X+3-3=0_23
x =—3
@ x—2=5 ® x— 3=
X—2f£2=5+t2
x =17
@ x+7=3 @ x+5=2
X+ 7-01=3_217
x =—4
® x—3=—6 ® x—4=—6
X—3+£3=-6+3
x =—3
® x+7=3 ® x+6=14
X+7-01=321
x =—4

(JEC

-

ek wh U E) X L
. 77
i

3. KO kB

TR,

Lo LE # Lo
HEXOMEE

Solve the following linear equation.

foi kg i
D 4x =32 D 5x = 40
4x +4=323:4
x =8
@ —4x=28 @ —6x =54
—4x =(-4)=287(24)
x=—1
@ —9x=—54 @ —7x=—56
—9x 2(29=-543(29)
x=6

L x5 T

-
(g

oE wh I b
4. WO —RWEBXEME 2 I,

W oZ9
B

Solve the following linear equation.

v B R
1) RE [t A8
@Qx—-5=0 Ox—-2=0
xX=0+5
x =5
@ x+4=0 @x+6=0
X=0—4
x=—4
@ x—4=1 ®x—-5=8
X=7+4
x =11
@ x+9=4 Dx+8=6
X=4—-9
x=-5
® x—2=-5 ©x—5=-9
X=-5+2
x=-3
® x+8=2 ®x+2=3
xX=2-218
X =-6
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Answer the number that applies to the following squares.

0 HA WD

151 R il

DO 2x 0= 18 O 3x0O= 27
2x9=18 kY O0=9

@ 5x 0= 30 ® 8x = 40
5x6=30%0Y =6

® 4x [O=—28 ® 6x0=—24
ax(—1)=—28kv O=-—7
1 _ 1 _

@ —5—x0O=—4 @ 5 x0O=-3
S x(-g=-axn O=-—8

wh U 1E) L
N <

o Ko kBB EME S S,

. LoLE Hi Lo
KEXOMEE

Solve the following linear equation.

L HA WD
11| R F
Ox—7=0 O x—3=0
X—7£71=0+17
x =17
@ x+6=0 @ x+4=0
X+6_-6=0_6
X =—6
® x—3=2 ®x—4=1
X—3£f£3=2+t3
X =25
@ x+4=17 @ x+1=9
X+4-4=7_4
x =3
® x—4=-—9 ® x—5=—8
X—4+t4=-9+14
x=-5
® x +8=2 ® x+4=1
X+8_-8=2_38
x=—6

(JEC

-

ek wh U E) X L
. 77
i

3. KO kB

TR,

Lo LE # Lo
HEXOMEE

Solve the following linear equation.

foi kg i
@ 4x = 36 @ 8x = 56
4% £ 4=23634
x=9
@ —6x=24 @ —5x=35
—6x =(=6)=247(=6)
x=—4
@ —8x=—48 @ —7Tx=—42
—8x =(-8)=—48:(=8)
x=6

L x5 T

-
(g

oE wh I b
4. WO —RWEBXEME 2 I,

W oZ9
B

Solve the following linear equation.

v B R
151 R i &d
X=0+9
xX=9
@ x+5=0 Dx+7=0
X=0-5
x=-—5
® x—4=3 ®x—-7=9
X=3+4
x =17
@ x+8=3 ©xto=2
xX=3-8
x =-—5
®x—7=—4 ©x—9=-4
X=—4+1
x =3
® x+7=2 ® x+9=23
X=2-71
x=-—5
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AN

/k@ AR AR X, Calculate the following formula
{1 Bl
®2-5 =(+2)+ (-5 O 1 -7
-6 -2 =-
@ —2+6 =(-2+(+6 (@ —2+ 10
=+(6—2 =4
® —6+2 =(-6+(+2 @ —5+ 3
=—(6—2) =—
@ —2—3 =(2+(3 |@® —3—4
=—(@2+3) =-5
WD TR A X 7S, VE )
Solve the following linear equation.
s o
{51 /8 [
D4x—3=5 D3x —2=17
4x =513
4x = 8
x=874
x =2

@ 5x+3=38

5x=8_3
bx =5

X=57%5
x =1

@ 4x+ 5= 13

® —2x+1=17

@ —2x+5=9

—2x=T7_-1
—2x =6
x=6:(2)
x =—3
@2x —3=9 ®5x—-2=8
2x=9+3
2x = 12
x=127%2
x =
®3x+2=7 ® 2x+5=6
3x =17=2
3x =5
xX=5<3
oo B

DAY

3. /j’( D n+§- VA J: Calculate the following formula
bh D bh D
i /& i &4
® 3—-9 ® 4 — 13
@ —14 + 6 ® —2+ 3
@ —2+ 12 @ —9+ 2
@ —28 — 15 —7—5
Wwh L) T LE L v AR ] v
4. Ro—wrBkemzirsn, (Fhol s, ¥ron)
Solve the following linear equation.
o fEn bA WD
15l jE i
D2x+9=5 ®3x+ 13=4
2x=5-9
2x =—4
X :*4* 2
x=-—2

© —x—-1=-6

® —2x+7=-5

@ H5x— 12 =—2

3x =
Xx=9+3

x =3

® —2x +9= Yo

—2x =129

—2x =38
x=-87(-2)

x =4
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DAY

/k DOFE = X, Calculate the following formula
fi i
D 2-38 =(+2)+(-8 |[© 2—9
-8 -2 =-
@ —3+7 =(3++70 |@ —3+9
=+(71—3) =4
® —6+4 =(-6+(+t9 @ —7+ 2
=—(6—4) =—
@ —4—-3 =(49+-3 @ —6—2
=—(4+3) =-7
WD TR A X 7S, VE )
Solve the following linear equation.
o TR
151 [
D4x —3=9 D3x —5=1
4x=91F3
4x =12
*=127 ¢
x =3

@ 5x +2=12

5X =12 - 2
5x =10

X =107 5
x =2

@ 4x+1=17

® —3x+4=10

® —2x+1=9

—3x=10—4
—3x=6
X=6:(3)
x =—2
@2x—5=9 ©5x—-7=8
2x =9+ 5
2x = 14
Xx=14=2
x =
®3x+2=6 ® 2x+3=6
3x =62
3x =4
Xx=47%3
oo 4

3.

4.

DAY

/j’(@ n+§- VA J: Calculate the following formula
bh D bh D
i /& i A
@ 4—6 ® 4 — 12
@ —13+ 5 ® —2+ 4
® —2+8 @ —9+ 8
@ —13 — 8 —7— 4
Wwh L) T LE L v AR ] v
KoK IR ERE s, (Fhotd. ¥robH)
Solve the following linear equation.
o fEn bA WD
15l jE i
D2x+7=1 DO3x+ 14 =2
2x =127
2x =—6
X :*6* 2
x=-—3

® —x+1=-8

® —2x+ 3=-—5

@ 5x— 16 =—1

® —3x+12=3
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/k@(;jr%{ e X, Calculate the following formula.
{5 i
®2-5 =(+2)+(-5 O 1 -5
-6 -2 =-
@ —2+6 =(-2+(+6 |@ —3+5
=+(6—2 =4
@ —6+2 =(6++2 @ —4+3
=—(6—2) =—
@ —2—-1 =(2+(-1) |@ —3—4
=—(@2+1 =-3
WO R HER AR S\, (e on 1)
Solve the following linear equation.
o SR
B/ [
Ob5x=2x+6 O5x=3x+8
5% “2x=6
3x =6
X=6+3
x =2
@3x=x+6 @ 4x=ux+ 12
3x - XxX=6
2x =6
X =62
x =

® 3x=—2x— 15

@ 5x=—x+ 12

® 7x=2x— 10

3.

4.

DAY

/j’( D n+§- VA J: Calculate the following formula
A HA WD
f5il /E i

D 2x —5x DO 2x—7x

=2—-5)x=—-3x

@ —2x+6x
=(—2+6)x=4x

@ —2x+ 4x

® —6x+ 2x

® —bhx+ 2x

=(-6+2x =—4x
@ —2x—x @ —3x—2x
=(—2—1)x =-3x
KOSk IR ERE s, (Fhol S, krobn)
Solve the following linear equation.
P P
Bl [ &8
O2x=5x+9 O2x=6x+ 8
2x -5x=9
—3x =
x=97(73)
X =-—3

@ —83x=-5x+ 12

—3X +5x =12

©® —2x=—4x+6

® x=3x—28

@ —3x=-2x1+14

—3X £ 2Xx =4

@ 5x=—x+ 12

® —83x=2x+ 15
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/k@(;jr%{ e X, Calculate the following formula.
{5 i s
@®3—-5 =(+3)+(-5 | 2—5
—(6—3) =—
©® —2+8 =(-2+(+9 |[@ —3+5
=+(8—-2) =6
@ —6+5 =(-6+(+5 @ —4+9
=—(6—5) =—
@ —3—1 =(3+(-1) |@ —5—4
=—(B+1) =—4
WO R HER AR S\, (e on 1)
Solve the following linear equation.
PR SR
B/ [
O5x=3x+6 Os5x=2x+9
5% “3x=6
2x =6
X = 6* 2
x =3
@4x=x+6 @ 3x=x+ 12
4x - X =6
3x =6
x=6+3
x =

® 4x=—x—10

@ 2x=-3x+ 15

® 7x=3x — 8

3.

4.

DAY

/j’( D n+§- VA J: Calculate the following formula.
A HA WD
f5il /E i

DO 2x—Tx D 2x—6x

=2—-Tx=-5x

@ —2x+5x
=(—2+5)x=3x

@ —2x+ 4x

® —6x+ 3x

® —3x+ 2x

=(-6+3)x =-3x
@ —3x—x @ —4x—x
=(-3—-1)x =—4x
KOSk IR ERE s, (Fhol S, krobn)
Solve the following linear equation.
o SR
Bl [ &8
D2x=8x+6 O2x=5x+9
2x - 8x =6
—6x =
X =67 (76)
x=—1

@ —83x=—8x+ 10

—3x +8x =10

©® —2x=—4x+6

® x=5x—28

@ —4x=-3x+5

—4XxX £3X =5

@ —3x=—-2x+1

® —4x=x+ 15
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1. RO~k GFBRAEZME RS, (B3 o Ao of ) 3. Wy aEALT, RO-KRIBEXEZME RS,
Solve the following linear equation. Remove the brackets and solve the following linear equation.
neEn bA D e En bA D
15 B i 15 B A
— = — — = — m
O x—-5=-2 Dx—6=-5 ® 2(x— 3)=4 ® 3(x— 3)=6
x=-2+5=+(-2)
xr =3 2x — 6 =
@ x—3=-8 @ x—3=-5 2x=4+6
x=-8+3=-(-3
2x =10
x=-5
@ x+5=2 @ x+4=1 Fo0R2
x=2-5=—(5-2) x=5
X =-—3
= — = — m
@ x+ 3=-2 @ x+4=-5 @ 5(x+ 2)=9 @ 4(x+ 2)=20
x=-2-3=-(@2+3)
‘-5 3x+6=09
28 wh L EyTihLe & FuTs b = 3x=926
2. KO—RIFBRAAME72 S0, (x o % % cH 5 BmH)
Solve the following linear equation. 3x =3
nn ey HAED .
fi B i £=38:.3
@ 2x =16 O 2x=14 =1
X =16+ 2
= P
X ® 4(x— 2)=x2+1 |® 3(x— 1)=x+3
@ —4x =28 @ —4x=20
_ 4x —8=x+1
x*28_71(74)
=7 tx—x=1+8
@ 5x= @ 3x =4 3x =9
X=9%5 x=9:3
9 x =3
Y= 75
AN
® 2-x=6 ®-3-x=12 ® 2x2= 5(x— 3) |® 2x= 3(x— 2)
Xx=6: 2 =px - 2x=5x— 15
,,,,,,,,,,, 5 2
—3x =—15
® 4x=2x+ 6 ® 6x=2x+ 8
x=-15 +(=3)
4x - 2x=6
2x = X =5
X =6+ 2
x = ® x= 2(3x+ 5) |® 3x= 3(4x— 6)
X =6x+ 10
® x=—2x—6 ® 3x=-2x—15
x - 6x=10
X+t2x=-6
x=—6-=3 x = 107(75)
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Solve the following linear equation. Remove the brackets and solve the following linear equation.
av D LA ED av D bA D
i H i &
— = — — = — m
Ox—-7=-2 Ox—8=-1 © $(x— 2)=6 ® 3(x— 4)=6
x=-2+7=+01-2)
@ x—3=—7 @ x—2=-5 2x=614
x=-7+3=-(1-3)
2x =10
x =—4
=10 2
®x+4=3 ®x+6=1 o
Xx=3—-4=—(4-23) x =5
x=-—1
pra
@ x+ 4=-2 @ x+2=-5 @ 3(x+ 2)=12 @ 4(x+ 3)=20
x=-2-4=-@2+4)
3x +6=12
x=—6
3x=12 -6
ek wh LE) T L& L AN b W)
2. KO—RIFBRAAME72 S0, (x o % % cH 5 BmH)
Solve the following linear equation. 3x =6
N HA N =6 = 73
{5l il T
@© 3x=15 D 3x =21 x =9
X=15+2
e
x=5 @ 4(x— 2)=x+4 [® 3(x— 1)=x+5
@ —4x=24 @ —4x=12
4x —8=x+4
X =243 (-4)
dx-x=47L38
x=—6
® 5x=3 ® 5x =4 3x = 12
X=335 x =123
Y= 75
@%xzea @%x:(), @ 2x= 4(x+ 1) |@ 2x= 5(x— 3)
x:s—%fsxi 2x =4x+ 4
¥ = 19 2x-4x=4
—2x =
® 5x=2x+6 ® 7x=3x+8
x=4x(=2
5x - 2x=6
X =6-+3
X = ® x= 3(2x+ 5) |®x= 2(3x— 5)
X =6x+ 15
X+t 3x=-8
—5x =15
4x =-—8
x=-84 x =15+ (=5)
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Solve the following linear equation.

A}
o

nwn 7w

il

b

[ &

DO 04x — 1.6 = 2.8

4x — 16 = 28

4x =28 +16

4x = 44

X =44 +~ 4

x =11

® 0.3x — 1.3=1.1

0.7 X + 2 — 3.4
(0.7x+2) x10 = 8.4 x10,
Tx +20=34

7% =34720

® 0.3x +1= 28

0.256x — 0.5 = 0.75
(025503 3100 ~0.75x100
25x — b0 = 75
25 x = 75 +50
25 x = 125

X =125+ 25

x=5

® 0.15x — 0.3 = 1.05

02(x + 2)=12

2(x +2)=12

2x +4=12
2x =124
2x =28
X=8=+2
xX=4

@ 05(x—2)=15

2.

RS TN

oE v [ES) L& w5 A ]
WD (B2 % micras)
Solve the following linear equation.
v En LA
i il &
ofr—Fer1 |0de e
Txsz(%erl)xG
9x=4x+ 6
9x -4x =6
5x =6
X=6=-5
__6
*=75
3x—4 2x—1 _
@354 -1 @ 221 _5
(34962*&”:“2
3x —4 =2
3x =214
3x =26
X =633
x= 2
x—1 _ x+1 x—1 _ x+1
® =5 —="73 ® 5 ="
3(x—1)=2(x+1)
3x—3= 2x + 2
3xX —2X = 2+3
x=5
@51 =x+1 @ =2
—1
('76—3Lx3:(x+1)x3
x—1=3(x+1)
x—1=3x+3
X -3x =341
—2x =
x=4x(-2)
x =—2
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Solve the following linear equation.

nwn 7w

il

b

[ &

DO 04x — 1.9= 2.9

4x —19=29
4x = 29+19
4x = 48

X =48 + 4

x = 12

® 0.3x — 1.8=1.5

0.7x +2=—15
(0.7 x+2) 10 = —1.5 x10_
7x +20=-15

Tx =—15-20

@ 04x +1=-—22

0.35x — 0.5 = 0.9

35x — 50 = 90

35X = 90 +50_
35 x = 140

X = 140 + 35
X =4

(0.352—0.5) X100 =0.9x100

® 0.15x — 0.3 = 0.6

04(x + 2)= 12
0.4 (x+2) x10 = 1.2 X10.

4(x+2)=12

4x + 8 =12
4x =12 -8

4x =4
xX=4+4

x=1

@ 05(x—1)=25

2.

RS TN

(mvm A

% T 5)

Solve the following linear equation.
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K s HEAT x4 (x— 15)= 23
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4x — 12 =2x+ 34

FE® 2 A% 46 4 o
K%L 102D A, 1T

FeVIE A V) B

A0 E Ui, 44D KK K

~

3.

L E) TwLE 2

ROL = b 1R FEAEED 28,

v En
i)

1@200%@%@& 1{[:31 100%@) ‘/:f‘%_"j)\b
(AR

® T 12@;&\1 L 7=, %47 1900 P%@k X,
%n%‘nm{lﬁlab\i L 725,
Wz xE S LB, UL ai312 — HES.

VE A

R4 0x 200x + 100 (12 — x )= 1900

r‘t

, RADDIES TOLE  pAH

[ HEATE 25 ¢
Bewxli, Voo yEEET S
AbwT 12 E 556

\orn A

VAL 200 x + 100y = 1900

xty=12

b AT
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6x + 120 = 920 HAEE MRS L F B, BIFI10 - x KH 5.
— — Py Rre—— feh iz 62x + 82(10 — x)= 720
HED AbHLE8EE-T, 100 Moo e
L, iR 1060 1T L, A bA LofiE % BUSEATE ALE
o s un, ans ek, BReykizTse
%ébﬁf1M%%5W% x+y:10;
LR AT 62x + 82y = 720 f
R 1 250 M oobks 1140 DY v =% b
@ Fe—F v 3L 200 a—t—%H 75 ﬂfcmﬁawibtoﬁé@1%omwa%
Reme90 MTLE, FeF Yoz ko ZRZERMEENE L,
I,
2. WOLTE e 1k HEREED 2 S0, 4. KROLE 1o 1k FRAEED 7S,
=i ' IZh T Zh Cr L L =i UéU}: No 29 i
% D iﬁ@)\i&iéﬂ)\fﬁ‘o 71 ;’Eﬁ%oﬁ@ 151 RE TZ /u75>5ﬁ7i’|'fdf?3§’\r'ﬂ75>b\i L7z,
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L BRSAOECES AN 60m & T 5L,
Ko % AL 2+ (x— 18)= 60 BRSNS % TS %ICEE S iz
LA EWD PRV AN W Lxr L L O%i'@—b)o
5 RE (D 1$$@A@i2&kfﬁ ﬁ%iﬁ%;w
24 A0 B oLtk s BESAN s A BICEC SAMCBONSL TS L
gmk%%w% 30(x +6) =60x
[ R ym B L, B
e RN <iE [N z
BEQ H)hA%x 3ELEICEDY £9, 1)\’6@ y . y . y
<iE - oLy 30 - 60 +6 X = 60
TORA E8FEY THA, 1 AIC 5@?0@6&

SIAD £ Ui, LD I KA RDAR S,

PDAEW

SEEE%xJ\kﬁ‘é ﬁb)h@ﬂﬂi&i@

6x—8=5x+5

HEQ BRI AEACEY £+, 1 0 4o
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Answer the number that applies to the following squares. Solve the following linear equation.
foi o ] foi ]
®© 2x 0= 10 ® 3xO=21 D 4x =24 5x = 40
2x5=10L%0V =5 4X - 4=24+4
@ 4x [0=—12 @ 6x[=—18 -
ax(—3)=—-12kv [O=-3 ® —4x =16 —6x =18
@ —3x0O=15 @ —7x 0= 21 —4x =(Z4)=163(=4)
—3x(-5)=15%Lv» O=-5 x =4
1 1 ® —2x=24 —3x =63
@ b=z ® e —2x 2(=2)=243(22)
%x8=2i0 O=8 x=-12
2. KO R BN A E A S, 4. ROZRFBRA M= S0,
Solve the following linear equation. Solve the following linear equation.
foi ] i il
®2x—-6=0 ®3x—12=0 @ 4x +20=0 @ 3x— 24=0
2X=0+6
2x =
2x 52=6322
x=_3
@ 4x+8=0 ©® 2x+6=0 ® 2x —6=2 @ 3x+5=—7
4x=0_38
4x =—8
AX t4=-8:4
x=_—2
® 3x +2=—4 ® 4x+1=-11 ® 4x —1=-9 ® 3x— 8=—5
3x=—4—-2
3x =—6
3% :3=-6%3
x=_—2
@ —3x+4=1 @ —b5x+ 12=2 D —2x—1=09 ® —3x+4—=—5
—3x=1_4
—3x =—3
—3X =(=3)=—3 (=3
*=_1
® —2x—-3=4 ® —4x—1= © —4x+2=-5 © —3x—1=4
—2x=4+3
—2x =17
—2x 2(=2)= 7:(=2
o=
2
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Answer the number that applies to the following squares. Solve the following linear equation.
foi o il foi ]
D 2x 0= 6 O 3x 0= 12 @ 4x =28 © 5x=35
2x3=64Y =3 4x D 42874
y =
@ —5x =25 @ —8x = —32
—5x5=—255L0 =25 @ —4x=120 @ —6x =30
—4x 2(24)=203(=4)
® 4xO=-8 ® 6x0=—30 X ——5
x(—2)=—-8 kv [O=-2
@ —2x=—42 @ —3x=-—39
@ %X 0= 3 @ %X O=1 —2x 2(2)=-42:(22)
—x1=3xry O=15 x=21
2. WO R FER M E A S, 4. Ko —gkBERXEmER s,
Solve the following linear equation. Solve the following linear equation.
{5 i ] [ i
© 5x=3x+ 8 O 7x=3x+ 12 O 5x=2x+6 @ 3x=5x+ 12
5x-3x=38
2x =
2x £ 2=832
X =_4
® 2x=5x+9 ® 5x=9x + 8 ® 3x=—-2x — 10 @ x=—3x—8
2X-58x=9
—3x =
—3x 2 (=3=9:(=3)
x=_—3
@ 3x=—x—4 @ x=—x—6 ® —2x=4x+6 ©® —2x=x—3
3X T X =—4
4x =—4
4x - 4=—4724
x=_1
@ —3x=—-2x+1 @ —4x=-3x— 3 @D —x=—4x—6 ® —7x=-2x+ 10
BX f2x=1
T
—x (D= 1=(21)
x=_1
® 2x=4dx+ 5 ® 3x=6x+2 ©®3x=x-1 ® —2x=2x+5
2X - 4x=5
—2x =
—2x =(=2)= 5:(=2
5
2
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1. RO -k zME s, 3. Wo—kHFRNEME s,
Solve the following linear equation. Solve the following linear equation.
av D bA D av D LA ED
15 B il & 15 B il &
O 3=ux D 5=x O 2x—4=6 ®2x—3=9
2x =6+ 4
2x =102
@ x—5= @ x—2=
x g
x=0t5
x=5 @ 3x+2=5 @ 3x+ 4=10
3x =522
® x+ 3= @ x+5=0 3x =3
x=0_23
xX=333
x=-3 —
x =
@ x+2=17 @ x+4=09 ® 4x+2=-—6 @ 4x+2=-10
X =172 4x=—6—2
x =25 4x =—8
® x+6= ® x+7=3 rooEed
x=—2
X=2_86
x=—4 @ b5x —2=—12 @ 5x—3=-8
5x=-12+2
® x—2= ® x —2=38
5x =—10
X =512
5x =—10= 5
x =717
x=—2
SF b U :iafg\bé ﬁkﬁ Jo X
S T . \ SF  vhH L EY THLE &
2. /k@ b I %*%cﬁ % o . . . 4 Yk@—Y 5‘51‘% @%fcﬁéb\o
Solve the following linear equation. . . .
Solve the following linear equation.
v vy bA WD
| BE 7 o o b A ED
G;ﬂi_ @F'Fﬁi— . {51l 3 ik
x=6 x = D 3x=2x+6 O 4x=3x+5
2x t2=6:2
T2 .2 3X Z2x =6
x =3 .
x =
3x = 12 3x =15
= = @ 2x=x—3 @ 2x=x+ 4
3x £ 3=12323
- 2x-x=-3
x =4
X =-—3
® —4x=24 ® —4x =32
@ x=—2x+6 @ 4x=—2x+6
—4x B(4)=245(04)
X f2x =6
x=—6
3xX =
@ 5x =1 @ 5x=9 B £3=6%3
7
X = ——
5 @ 3x=-—x—8 @ 5x=—x— 12
2 3
4x =-—8
o XX2=-5X%X2
4x = 4=-874
x =-—10 x=—2
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1. RO—RFBANEZHE 230, 3. WO—WHEBKXEME7230,
Solve the following linear equation. Solve the following linear equation.
av D bA D av D LA ED
15 B i &4 15 B il &
O —-3=x © 6=x ® 2x—-3=5 ©2x—5=9
2x =513
X =-—3
2x =38
@ x—3= @ x—8=0
x=8x2
X=0+£3
x g
x =3 2 2
3x +4=17 3x+ 2=11
® x+ 3= ® x+6=28
3x =17_4
X=4=3
3xX =
=1
xX=3=3
@ x + —4 @ x+7=-2
x g
X=—4_-4
@ —4x+1=-—17 @ —4x+5=—17
x =-—8
4 =—7T-=-1
® x—2=3 ®x—4=1
—4x =-8
x=3+2
x=-8:(249
x 5
® ® -
X —3=-5 x —5=-—8
@ 5x —7=—12 @ 5x—3=-13
X=-5+%23
5x=—12+7
x=—2
5x =—5
S¥ b UIE) T Lx v
2. WO —RFBXZME S0, X=-5%5
Solve the following linear equation. X =—1
nwn HA D
151 RH i ?kzé@m)/u !ii’(é;hé%ﬁkﬁ%f <\
S o N
O 2x =10 O 2x=4 4. RS TE ’ - :
Solve the following linear equation.
x=10=2 v EY bA T
. fi i i
O 4x=3x+ 2 O 5x=4x+3
@ 3x=-15 @ 4x=-12
4% 3% =2
X =-15+3 —
ANZ x =
x=—5
® —4x=24 ® —5x = 40 © —2x=-3x—1 @ —3x=—4x+2
—2x t3x =-1
X =24+(—4) ToX
@ —6x=-—24 @ —7x=-—56 ® 83x=—2x — 10 ®2x=—x—9
X =—24%(-6) 3% r2x=-10
® 5x =11 ® 5x=3 *x=-10:25
x=11:5 x=2
Lo
5 @ —x=2x+6 @ —x=5x+ 12
4 5 _
—3x =
x=—4




